Show all work

Find the midpoint of the non-parallel sides Y W)

Label the midpoints G5 =3 Y&H( ] ,S) AP T A T 3

Draw the midsegment R =

Use the distance formula to prove the midsegment theorem ]

TR = GH = PA =

T >y
W,
(9
Prauc. ( L-‘ng_,_% d
— et 4. i
5!9{::2 TR Xz~ %, D) 5 (‘117)
- (- l'T:L

Slepc PA (L) ‘] - 1

G-(-> 9

&
’ \ -
. ' T4+(-3) O
W.Jpa.ht it TP ( j (S _9
Kitéa Y tYa
T Z (—"*"“’ ) (1%

D‘-'b t;.na, = ()ﬂ.l—}cb&-l- (\f«z_-yl)l p )
TR (aH o
o oy flE S om = (-

TR :\.}@4“0)'—4[“1 =™ P
(~OH F(-9"

4o T 30
Ww‘* N -\Jaas

S = (D :/5‘_




Given Trapezoid ABCD with points A (-2, -3),
B(-4, 1), C(-2, 4), and D(4,6).

Graph the figure

Prove which two sides are parallel Sio{?c-

Find the midpoint of the non parallel sides and M:de &
lable the midpoints X and Y

Draw the midsegment

Use the distance fromula to prove the Die tance
midsegment theorem.

BC = AD = XY =




Paxton makes trapezoidal handbags for her friends. She stitches
decorative trim along the top, middle, and bottom on(botl

of the handbags. How much trim does she need for three
handbags? Explain.
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5. Given trapezoid JKLM, what is
KL?
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